
Wáa Sá Ḵuwatee?



Sʼeek Dísi
sándi tléixʼ yakyee déix̱ yakyee násʼk yakyee daaxʼoon yakyee keijín yakyee sándi kʼátskʼu
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tatgé yáa yakyee seig̱ánin





wáa sá ḵuwatee?  /  wáa sá ḵuyatee?
yeedát

how is the weather?



ḵuwakʼéi  /  ḵuyakʼéi



awdigaan / oodigaan



ḵuligóosʼ



ḵuwatʼáa / ḵuyatʼáa



ḵusi.áatʼ



awdigaan ágé?



ḵuligóosʼ ágé?



ḵusi.áatʼ ágé?



ḵuwatʼáa gé?



dleit daak wusitán



séew daak wusitán



kadásʼ daak wusitán



kaklahéen daak wusitán



kaséix̱jaa daak wusitán



ḵudigwásʼ



ayawditee



ayakaawadán



tlél ḵooshkʼé































wáa sá ḵoowatee?
tatgé

wáa sá ḵuwatee?  /  wáa sá ḵuyatee?
yeedát

wáa sá ḵukg̱watée?
seig̱ánin



wáa sá ḵoowatee?

wáa sá ḵuwatee?  /  wáa sá ḵuyatee?

wáa sá ḵukg̱watée?
wáa + sá + ḵu-ga-u-g̱a-ÿa-√tee ¹
how + voice + areal.ga-mode.irrealis.g̱a-mode.classifier.√be

wáa + sá + ḵu-ÿa-√tee ¹
how + voice + areal.classifier.√be

wáa + sá + ḵu-ÿu-ÿa-√tee ¹
how + voice + areal.perfective.classifier.√be



wáa sá ḵuwatee?  /  wáa sá ḵuyatee?

yeedát

be (for the weather to be a certain way); weather: for the weather to be (a certain way)

√tee ¹  (verb root) be: to be 

(yéi) + ḵu-∅-√tee   ͪ¹  (na state verb – impersonal)



be (for the weather to be a certain 
way); weather: for the weather to 
be (a certain way)

(yéi) + ḵu-∅-√tee   ͪ¹  (na state verb – impersonal)

parentheticals show optional  
content. «yéi» translates to “thus”

“areal” refers to a given space

classifier changes what the verb does: agency, classification, reflexive, transitivity

verb root contains meaning

superscript “h” and “x” denote stem variation

superscript number denotes homonym

conjugation type (∅, na, ga, g̱a)

verb type (motion, act, event, state, position)

transitivity (object, subject)


